
sos#tuzioni	
  nucleofile	
  
al	
  carbonio	
  saturo	
  

note	
  rela#ve	
  al	
  cap.	
  8	
  Bruice,	
  2	
  ed.	
  





conversione	
  degli	
  alogenuri	
  alchilici	
  in	
  un	
  ampio	
  numero	
  di	
  compos2	
  



meccanismi	
  della	
  sos2tuzione	
  
nucleofila	
  alifa2ca	
  

•  se	
   la	
   ro9ura	
   del	
   legame	
   C-­‐gruppo	
   uscente	
  
avviene	
   in	
  maniera	
  concertata	
   il	
  meccanismo	
  
è	
  di	
  #po	
  SN2	
  

•  se	
   la	
   ro9ura	
   del	
   legame	
   C-­‐gruppo	
   uscente	
  
avviene	
   in	
   maniera	
   non	
   concertata	
   il	
  
meccanismo	
  è	
  di	
  #po	
  SN1	
  



il	
  meccanismo	
  di	
  una	
  reazione	
  si	
  determina	
  
a:raverso	
  misure	
  sperimentali	
  di	
  2po	
  cine2co	
  

[CH3Br]	
  

[MOH]	
  

•  la	
   velocità	
   della	
   reazione	
   di	
   sos#tuzione	
  
dipende	
   dalla	
   concentrazione	
   dell’alogenuro	
  
alchilico	
  e	
  dalla	
   concentrazione	
  del	
  nucleofilo:	
  
entrambe	
   le	
   specie	
   sono	
   coinvolte	
   nello	
   stato	
  
di	
   transizione	
   dello	
   stadio	
   che	
   determina	
   la	
  
velocità	
  

•  la	
   sos#tuzione	
   degli	
   H	
   con	
   gruppi	
   me#lici	
  
rallenta	
  la	
  reazione	
  

•  si	
   osserva	
   inversione	
   di	
   configurazione	
   al	
  
centro	
  asimmetrico	
  a	
  cui	
  è	
  legato	
  l’alogeno	
  (se	
  
l’atomo	
   di	
   C	
   a	
   cui	
   è	
   legato	
   l’alogeno	
   è	
   un	
  
centro	
  asimmetrico)	
  

esempio	
  di	
  reazione	
  di	
  sos2tuzione	
  nucleofila	
  bimolecolare	
  SN2	
  	
  

velocità	
  =	
  k[alogenuro	
  alchilico][nucleofllo]	
  



velocità	
  =	
  k2[CH3Br][MOH]	
  

•  l’equazione	
   cine#ca	
   ci	
   dice	
   che	
   Nu−	
   e	
   alogenuro	
  
alchilico	
   sono	
   coinvol#	
   nello	
   stadio	
   lento	
   che	
  
determina	
   la	
   velocità	
   della	
   reazione	
   (SN2	
   è	
   una	
  
reazione	
  a	
  singolo	
  stadio)	
  

•  il	
   nucleofilo	
   a9acca	
   sempre	
   il	
   carbonio	
   dalla	
   parte	
  
opposta	
  a	
  quella	
  di	
  allontanamento	
  del	
  gruppo	
  uscente	
  









effe?	
  sterici	
  (numero	
  e	
  dimensioni	
  dei	
  gruppi	
  
alchilici	
  lega#	
  al	
  C	
  che	
  subisce	
  a9acco	
  nucleofilo)	
  

alogenuro	
  me#lico	
  >	
  alogenuro	
  alchilico	
  1°	
  >	
  	
  alogenuro	
  alchilico	
  2°	
  	
  >	
  alogenuro	
  alchilico	
  3°	
  	
  	
  	
  

(non	
  subisce	
  SN2)	
  





inversione	
  di	
  confgurazione	
  
in	
  una	
  reazione	
  SN2	
  



la	
  velocità	
  di	
  una	
  SN2	
  dipende	
  da:	
  

•  il	
  gruppo	
  uscente	
  
•  il	
  nucleofilo	
  
•  lo	
  scheletro	
  carbonioso	
  

la	
  capacità	
  di	
  fungere	
  da	
  gruppo	
  uscente	
  è	
  correlata	
  alla	
  basicità	
  

basi	
  deboli	
  sono	
  o?mi	
  gruppi	
  uscen2	
  



il	
  nucleofilo	
  (basicità	
  e	
  nucleofilicità)	
  

•  basicità:	
   conce9o	
   termodinamico;	
  è	
  misurata	
  
da	
  una	
  costante	
  di	
  equilibrio	
  

•  la	
  nucleofilicità	
  è	
  misurata	
  da	
  una	
  costante	
  di	
  
velocità.	
   La	
   nucleofilicità	
   è	
   una	
   misura	
   della	
  
facilità	
   con	
   cui	
   un	
   Nu	
   a9acca	
   un	
   C	
   sp3:	
  
migliore	
  è	
  il	
  Nu	
  più	
  veloce	
  sarà	
  la	
  SN2	
  

le	
  basi	
  più	
  for2	
  sono	
  i	
  
migliori	
  nucleofili	
  



polarizzabilità	
  e	
  nucleofilicità	
  

polarizzabilità,	
  nucleofilicità,	
  solvatazione	
  



è	
  più	
   facile	
   rompere	
   le	
   interazioni	
   ione-­‐dopolo	
   tra	
   il	
   solvente	
  e	
   lo	
   ione	
   ioduro	
   (una	
  base	
  
debole)	
   piu9osto	
   che	
   quelle	
   tra	
   il	
   solvente	
   e	
   lo	
   ione	
   fluoruro	
   (una	
   base	
   forte):	
   in	
   un	
  
solvente	
  pro#co	
  lo	
  ione	
  ioduro	
  anche	
  se	
  è	
  una	
  base	
  più	
  debole	
  e	
  un	
  miglior	
  nucleofilo	
  

un	
  solvente	
  pro2co	
  rende	
  le	
  basi	
  più	
  for2	
  meno	
  nucleofile	
  



•  in	
   un	
   solvente	
   non	
   polare	
   il	
   fluoruro	
   sarebbe	
   un	
  
nucleofilo	
  molto	
  efficace.	
  Per	
  ovviare	
  ai	
  problemi	
  di	
  
solubilità	
  dei	
  compos#	
  ionici	
  (come	
  ad	
  es.	
  i	
  floruri)	
  si	
  
impiegano	
  solven#	
  quali	
   la	
  DMF	
  o	
   il	
  DMSO	
  (solven#	
  
polari	
   apro2ci	
   che	
   solvatano	
   bene	
   le	
   specie	
  
ca2oniche	
  rendendo	
  il	
  Nu	
  più	
  rea\vo)	
  



effe?	
  sterici	
  sulla	
  nucleofilicità	
  e	
  basicità	
  

pKa	
  (etanolo)	
  =	
  15.9	
  
	
  
pKa	
  (tbutanolo)	
  =	
  18	
  

•  lo	
   ione	
   tbutossido	
   è	
   una	
   base	
   più	
   forte	
   dello	
   ione	
   etossido	
   (l’ingombro	
  
sterico	
  influenza	
  poco	
  la	
  basicità)	
  

	
  
•  al	
  contrario	
  gli	
  effe\	
  sterici	
  hanno	
  una	
  forte	
  influenza	
  sul	
  potere	
  nucleofilo	
  

(l’avvicinamento	
  al	
  C	
  che	
  porta	
  il	
  gruppo	
  uscente	
  è	
  impedito)	
  



variazioni	
  stru:urali	
  e	
  SN2	
  

a9acco	
  al	
  carbonio	
  non	
  carbonilico	
  



velocità	
  rela#ve	
  delle	
  reazioni	
  SN2	
  dei	
  cloruri	
  alchilici	
  con	
  lo	
  ione	
  ioduro	
  



reversibilità	
  delle	
  SN2	
  

pKa	
  (HBr)	
  =	
  -­‐9	
  
pKa(HI)	
  =	
  -­‐10	
  

pKa	
  (HCl)	
  =	
  -­‐7	
  
pKa(H2O)	
  =	
  15.7	
  





Perché	
  conviene	
  deprotonare	
  l’alcol?	
  

perché	
  in	
  questo	
  modo	
  il	
  nucleofilo	
  
(l’alcossido)	
  è	
  molto	
  più	
  efficace	
  	
  



studio	
  cine#co	
  
•  la	
   velocità	
   della	
   reazione	
   dipende	
  

esclusivamente	
   dalla	
   concentrazione	
  
dell’alogenuro	
   alchilico	
   (che	
   risulta	
   quindi	
  
coinvolto	
  nello	
  stadio	
  lento	
  della	
  reazione)	
  

•  quando	
   i	
   gruppi	
   me#lici	
   vengono	
  
rimpiazza#	
   da	
   atomi	
   di	
   H	
   la	
   velocità	
  
diminuisce	
  

•  si	
   osserva	
   racemizzazione	
   al	
   centro	
  
asimmetrico	
   a	
   cui	
   è	
   legato	
   l’alogeno	
   (se	
  
l’atomo	
  di	
   C	
   a	
   cui	
   è	
   legato	
   l’alogeno	
  è	
  un	
  
centro	
  asimmetrico)	
  

	
  

il	
  meccanismo	
  della	
  SN1	
  

velocità	
  =	
  k[alogenuro	
  alchilico]	
  



esempio	
  di	
  reazione	
  di	
  sos2tuzione	
  nucleofila	
  unimolecolare	
  SN1	
  	
  

il	
  gruppo	
  uscente	
  si	
  allontana	
  prima	
  
che	
  il	
  nucleofilo	
  si	
  avvicini	
  

va	
  bene	
  anche	
  l’acqua	
  



meccanismo	
  



alogenuro	
  me#lico	
  <	
  alogenuro	
  alchilico	
  1°	
  <	
  	
  alogenuro	
  alchilico	
  2°	
  	
  <	
  alogenuro	
  alchilico	
  3°	
  	
  	
  	
  

più	
  rea?vo	
  poco	
  rea?vo	
  per	
  dare	
  SN1	
  
	
  

(gli	
  alogenuri	
  alchilici	
  primari	
  
e	
  me2lici	
  sono	
  troppo	
  poco	
  
rea?vi	
  per	
  subire	
  una	
  SN1)	
  

stereochimica	
  della	
  sos2tuzione	
  SN1	
  



si	
  osserva	
  racemizzazione	
  

il	
  gruppo	
  uscente	
  

ragionamento	
  analogo	
  a	
  quanto	
  fa9o	
  per	
  le	
  SN2	
  

la	
  capacità	
  di	
  fungere	
  da	
  gruppo	
  uscente	
  è	
  correlata	
  alla	
  basicità	
  

basi	
  deboli	
  sono	
  o?mi	
  gruppi	
  uscen2	
  

il	
  nucleofilo	
  
(la	
  rea\vità	
  del	
  Nu	
  non	
  ha	
  un	
  effe9o	
  determinante	
  sulla	
  velocità	
  della	
  reazione)	
  
	
  



I	
  carboca2oni	
  possono	
  trasporre	
  

condizioni	
  SN2	
  (nucleofilo	
  forte)	
  

considerazioni	
  stereochimiche	
  

tBuOH	
  +	
  HF	
  +	
  SbF5	
  



sistemi	
  allilici	
  

il	
  gruppo	
  ossidrilico	
  è	
  un	
  ca\vo	
  gruppo	
  uscente	
  (base	
  forte	
  coniugata	
  dell’acido	
  debole	
  acqua):	
   la	
  protonazione	
  
dell’alcol	
  con	
  HBr	
  produce	
  uno	
  ione	
  ossonio	
  che	
  perde	
  acqua	
  per	
  dare	
  il	
  corrispondente	
  carboca#one	
  allilico	
  (H2O	
  
è	
  un	
  gruppo	
  uscente	
  migliore	
  di	
  OH−	
  in	
  quanto	
  base	
  più	
  debole).	
  

le	
  due	
  stru:ure	
  delocalizzate	
  sono	
  iden2che	
  e	
  forniscono	
  il	
  medesimo	
  prodo:o	
  

ca#oni	
   allilici	
   non	
  
simmetrici	
  forniscono	
  
u n a	
   m i s c e l a	
   d i	
  
prodo\	
  esempio	
   di	
   rea\vità	
   verso	
   la	
   SN1	
   di	
  

due	
  alcoli	
  isomerici	
  insaturi	
  in	
  grado	
  di	
  
fornire,	
  dopo	
  protonazione	
  e	
  perdita	
  di	
  
acqua,	
   un	
   carboca#one	
   di	
   #po	
   allilico	
  
non	
  simmetrico.	
   la	
  regiosele?vità	
  (dove	
  a:acca	
  il	
  Nu)	
  è	
  determinata	
  dall’impedimento	
  sterico	
  



sistemi	
  benzilici	
  

carboca#one	
  terziario	
  &	
  allilico	
  che	
  reagisce	
  
esclusivamente	
  all’estremità	
  meno	
  ingombrata	
  

il	
  ca#one	
  benzilico	
  è	
  pressappoco	
  stabile	
  come	
  quello	
  allilico.	
  
NB:	
  esso	
  reagisce	
  sempre	
  sulla	
  catena	
  laterale	
  

delocalizzazione	
  nel	
  ca#one	
  benzile	
  



SN1	
  vs	
  SN2	
  






